CTET MS L1 English L2 Hindi P2
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1)

In the context of physical development, children acquire before achieving the capacity
fo use X

(1) gross motor skills; fine muscles

(2) fine motor skills; gross muscles

(3) language; analytical reasoning

(4) analytical reasoning; language

oifier famm & de §, o= Teel Bt § fR % et Hied 2

(1) et TIfaer hiTe; Yeq Aiguiym & &
(2) geH T PIE; T HIIeE % TEmE
(3)  wTeT; favei e Toh
(4) ToveroomeEs Toh; 9l

[Question ID = 1][Question Description = S1_CDP_Q001]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]
2)
Contemporary theories of child development view children as :
(1) blank slate who can be totally molded as per the environment.
(2) active purposeful beings who contribute substantially to their own development.
(3) having an innate plan for orderly growth that cannot be changed.
(

4) genetically programmed beings who cannot do anything to alter their own course of
development.
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2. 2 [Option ID = 6]

3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



3 Which of the following statement is correct in the context of development ?

(1) Development depends only on environmental factors.

(2) Development depends only on the heredity factors.

(3) Development is a temporary change of short duration.

(4) Development continues in a holistic and systematic manner.

o % Teel § 19 1 oA gt 72

(1) fapm Fael v HRen W) FHR e 2
(2) Topmg Fae araifye wrept ot fef e 7
(3) foepra 0 g & fog €M aren syl aftedT 21
(4) TammE g ud rafied w9 9 Fid € @@ 2

[Question ID = 3][Question Description = S1_CDP_Q003]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4 The ability to form and use symbols is a major accomplishment of

(1) sensori motor stage

(2) pre-operational stage

(3) concrete operational stage
(4) formal operational stage
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[Question ID = 4][Question Description = S1_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

5)

In Piaget’s theory, what process describes an infant’s action when she changes the way she holds
her hand as she reaches for round objects as oppossed to square ones ?

(1) Accommodation

(2) Conditioning
(3) Inter-subjectivity
(4) Schemas
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[Question ID = 5][Question Description = S1_CDP_Q005]
1. 1 [Option ID = 17]

2. 2 [Option ID = 18]

3. 3 [Option ID = 19]

4. 4 [Option ID = 20]

6)

According to Lawrence Kohlberg, at which stage does satisfaction of personal needs determines
moral choice ?

(1) Instrumental purpose orientation

) Punishment and obedience orientation
) Universal ethical principles orientation
) Good boy-good girl orientation

(ORI S

(
(
(

e

AN Fgererd & TR, fF0 T W safamma smevasmaed wi Hgie Sfas =mm #1 feifa # @2
(1) ToTam secwa stfafa=rg
(2) =S T SETer sAfafaEr
(3) wrEifeE Ao fagia sfufa=mg
(4) 3T=B1 ASH-T=3 TSl fufa=mg
1[Q1u¢[e;ti9n |Ig =261}[Question Description = S1_CDP_Q006]
2. 2 [Option ID = 22]

3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)
Lev Vygotsky proposed that children should be provided to facilitate learning.
(1) negative feedback

(2) rewards
(3) scaffolding
(4) positive reinforcement
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[Question ID = 7][Question Description = S1_CDP_Q007]



1 [Option ID = 25]
2 [Option ID = 26]
3 [Option ID = 27]
. 4 [Option ID = 28]
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® Lev Vygotsky proposed that thinking :
(1) is co-constructed during shared activities between the child and another person.
(2) takes place outside of the child’s context.
(3) happens when stimulus and responses get paired together.
(4) is not related to development of language.
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[Question ID = 8][Question Description = S1_CDP_Q008]

1. 1 [Option ID = 29]

2. 2 [Option ID = 30]

3. 3 [Option ID = 31]

4. 4 [Option ID = 32]

9)
Ina classroom the child is an active participant in the learning process and learns as
per her own pace, needs and capacities.
(1) progressive

(2) teacher-centered

(3) behaviouristic

(4) textbook-centric
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[Question ID = 9][Question Description = S1_CDP_Q009]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

19 According to the theory of ‘Multiple Intelligence’ every individual has :
(1) a set of general abilities.
(2) a fixed IQ determined at the time of birth.
(3) different cognitive abilities in different amounts.
(4) five types of cognitive abilities.
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1[Q:.u[e;ti:n I|g =317§)][Question Description = S1_CDP_Q010]
2. 2 [Option ID = 38]

3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)

Children’s “private speech’ play an important role in cognitive development because it helps in
guiding & regulating self thinking. This concept is supported by :

(1) Noam Chomsky

(2) Jean Piaget
(3) Jerome Bruner
(4) Lev Vygotsky
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[Question ID = 11][Question Description = S1_CDP_Q011]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)

The following is an effective strategy in reducing children’s gender-stereotyping and gender-role
conformity :

(1) Gender-segregated seating arrangement.

)  Focusing upon gender specific roles.

) Gender-segregated play groups.

)  Discussion about gender biases.
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[Qut[e;tiQn ||; = 1]2][Question Description = S1_CDP_Q012]
2. 2 [Option ID = 46]

3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13) In order to make teaching and learning effective for every child, the teachers should :

(1) use multiple strategies to engage children.

(2) ignore and disregard individual differences.
(3) be absolutely rigid in her assessment methods.
(4) Follow uniform and structured curriculum.
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1[Q:.u[a;ti:n |Ig =419 ]3][Question Description = S1_CDP_Q013]
2. 2 [Option ID = 50]

3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14)

Assertion (A) : In a socio-constructivist classroom recall based written tests should be the
only basis of assessment.

Reason (R) : Children learn most effectively by rote memorisation.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

( Both (A) and (R) are true but (R) is not the correct explanation of (A).

( (A) is true but (R) is false.

( Both (A) and (R) are false.
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2 [Option ID = 54]

3 [Option ID = 55]
4 [Option ID = 56]
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15)

Assertion (A) : Inclusive education refers to an education system that accommodates all
children regardless of their physical, intellectual, social, emotional, linguistic
or other conditions.

Reason (R) : Inclusion is not confined to the “disabled” but is a broader term.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) Both (A) and (R) are false.
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2 [Option ID = 58]
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4 [Option ID = 60]

AW N



16} Tn an elementary classroom, how should teacher view diversity ?

(1) As a barrier to learning

(2) Ignore diversity

(3) Minimize diversity and promote standardised curriculum
(4) As an asset since it promotes heterogeneity
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1[Q:.u[e;ti9n |Ig =611 ?][Question Description = S1_CDP_Q016]

2. 2 [Option ID = 62]

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17)
Karthik a fifth standard child has persistent difficulty in verbal and non-verbal communication
with his friends and teachers. These could be primary characteristics of :

(1) Dysgraphia

(2) Dpyscalculia
(3) Autism
(4) Dyslexia
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[Question ID = 17][Question Description = S1_CDP_Q017]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)



Which of the following are effective accommodations in the classroom environment as per the
needs of students with visual challenge ?

(i)  Eliminate unnecessary obstacles from classroom

(ii) Use a variety of visual presentations

(i) Give a lot of handouts having mind-maps

(iv) Provide recorded materials to supplement classroom teaching

(1) (i), ()

(2) (), (1), ()
(3) () ()

(4) () (i), (i), (iv)
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[Question ID = 18][Question Description = S1_CDP_Q018]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

%) An identifying characteristic of creativity is :
(1) Divergent thinking - the ability to propose many different ideas or answers
(2) Convergent thinking - the ability to focus on one answer
(3) Ability of passive imitation
(4) Skill to rote memorise long passages
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[Question ID = 19][Question Description = S1_CDP_Q019]

1. 1 [Option ID = 73]

2. 2 [Option ID = 74]

3. 3 [Option ID = 75]
4. 4 [Option ID = 76]



20) If a teacher wants to assess creativity of students, she should avoid :

(1) focusing on process rather than product.

(2) comparing the students with each other.

(3) comparing the students with their previous performance.
(4) giving opportunity for self assessment.
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[Question ID = 20][Question Description = S1_CDP_Q020]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21 Learning :
(1) 1is a passive process.
2) is influenced by personal factors.

(
(3) occurs independent of socio-cultural context.
(4) is a process of only recall and reproduction of information.
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[Question ID = 21][Question Description = S1_CDP_Q021]
1. 1 [Option ID = 81]

2. 2 [Option ID = 82]

3. 3 [Option ID = 83]

4. 4 [Option ID = 84]

22)

Students with which of the following belief will be encouraged to learn and have a better
performance in class ?

(1) One cannot change one’s inborn abilities at all.

(2) Effort can influence one’s learning and performance.

(3) Getting good marks is a matter of huck.

(4) One who has not succeeded previously, will not succeed in future as well.
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1[Q:J?;ti9n |I|; =825]2][Question Description = S1_CDP_Q022]

2. 2 [Option ID = 86]

3. 3 [Option ID = 87]
4. 4 [Option ID =88]

23) Teachers can encourage students to become mastery-oriented learners by :
(1) overemphasising scoring high marks.

(2) encouraging children to win all competitions.
(3) inculcating love and joy in the process of learning.
(4) inculcating fear and stress to avoid failure.
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1[Q1l1¢[e;ti9n |I|; =8§I]3][Question Description = S1_CDP_Q023]

2. 2 [Option ID = 90]

3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24) Which of the following strategies will help students to learn meaningfully ?
(1) Relating the knowledge with their everyday life.

(2) Focussing only on teaching for students to get good marks.
(3) Stressing on repetitive drill and practice.
(4) Remembering lots of information at the same time.
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2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]



29 In a socio-constructivist classroom, learning promotes :
(i) metacognitive abilities

(i) self-regulation

(iii) critical thinking

(iv) problem-solving

(v) meaningless drill and rehearsal
(1) (i), (iv)

(2) (i), (i), (v)

(3) (1), (@), (id), (iv)

(4) (@) @), @), @v), (v)
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(4) (i), (i), (i), (iv), (v)

[Question ID = 25][Question Description = S1_CDP_Q025]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

26)  Alternative conceptions of concepts among students :
(1) are indicative of the naive’ theories that students construct.
(2) should be discouraged through use of punishment.
(3) are meaningless in the process of learning,
(4) should be ignored by the teacher while teaching.
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[Question ID = 26][Question Description = S1_CDP_Q026]
1. 1 [Option ID = 101]



2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) Children learn by :
(i) experimentation and exploration

(i) listening and talking
(i) discussing and reflecting
(iv) making and doing things
(1)  (3), (), (iid), (iv)
(2) (1), (1), (iid)
(3) (i) @ii), (iv)
(4) (i), (i), (iv)
= Y Hied €7
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(1) @), (i), (i), (iv)
(2) (i), (ii), (i)
(3) (1), (1), @v)
(4) (iD), (iil), (iv)

[Question ID = 27][Question Description = S1_CDP_Q027]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28)

The most motivating and meaningful learning tasks for diverse students in a middle classroom are
those that are :

(1) not challenging at all.

(2) moderately challenging.
(3) extremely challenging.
(4) repetitive and boring.

T WreATTE weaehe o faenfa o wed s sl s A stdyel Sk e aw @ g S
(1) foreger gl == 2 |

(2) TEAH AT TEd H ¢

(3) EE gAY B € 1

(4) et 9 e dn 2



[Question ID = 28][Question Description = S1_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29 For learning to be meaningful it should be associated with :

(1) discipline and distress.
(2) fear and punishment.

(3) enjoyment and satisfaction.
(4) achievement and competition.
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[Question ID = 29][Question Description = S1_CDP_Q029]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]
30)
Assertion (A) : A teacher gives a lot of project work and encourages children to work
collaboratively.
Reason (R) : Children learn a lot through discussion with peers.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) 1s false.
(4) Both (A) and (R) are false.
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[Question ID = 30][Question Description = S1_CDP_Q030]

1. 1 [Option ID = 117]
2. 2 [Option ID = 118]




3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_P2_CTET

1 Which of the following statements is true ?
(1) Sum of a positive number and a negative number is always zero
(2) Sum of two odd numbers is always an odd number
(3) Sum of two even numbers is always an even number
(4) Product of two prime numbers is always a prime number
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[Question ID = 31][Question Description = S1_Maths Content/Pedagogy_Q031]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]

3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2) Ascending order of the numbers 0.515, 0.5, 0.06, 0.52, 0.053 is :
(1) 0.5, 0.515, 0.52, 0.053, 0.06
(2) 0.053, 0.06, 0.5, 0.515, 0.52
(3) 0.053, 0.5, 0.515, 0.52, 0.06
(4) 0.06, 0.52, 0.515, 0.5, 0.053

HEma 0515, 0.5, 0.06, 0.52, 0.053 &1 STRIE FH T :
(1) 0.5, 0.515, 0.52, 0.053, 0.06
(2) 0.053, 0.06, 0.5, 0.515, 0.52
(3) 0.053, 0.5, 0,515, 0.52, 0.06
(4) 0.06, 0.52, 0.515, 0.5, 0.053

[Question ID = 32][Question Description = S1_Maths Content/Pedagogy_Q032]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3 Value of /0.000081 is :
(1) 0.9
2) 0.09
(3) 0.009
(4)  0.0009



J0.000081 FTHAFE :

(1) 0.9

2)  0.09
(3) 0.009
4) 0.0009

[Question ID = 33][Question Description = S1_Maths Content/Pedagogy_Q033]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

Y The value of (6~ 1=7")"1-2-1-3"H-1+(—6)"1is:
(1) 6

(2) 41

(3) 43

(4) 78

4) 78

[Question ID = 34][Question Description = S1_Maths Content/Pedagogy_Q034]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

) Which of the following can be the HCF and LCM respectively of any two numbers ?

(1) 21, 372
(2) 38, 342
(3) 488, 62
(4) 124, 4

o= o 9 =9 o g i <1 el 3 Fa9: HCF 991 LCM 81 @l 8 7

(1) 21,372
(2) 38, 342
(3) 488, 62
(4) 124, 4

[Question ID = 35][Question Description = S1_Maths Content/Pedagogy_Q035]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]



6) If 60% of 400 +k% of 280 =296, then the value of k is :

68
O
2) 20
(3) 28
4) 33

Ifg 400 T 60% + 280 &1 k% =296 &, dI k &1 HH BT :

68
(D =
2) 20
(3) 28
4) 33

[Question ID = 36][Question Description = S1_Maths Content/Pedagogy_Q036]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7)

On subtracting (12a—9ab—2) from the sum of (4a —7ab—4b—5) and (a +3) (b—4), we
get

(1) 12a—3ab-b-15

(2) —12a+3ab-15

3) —12a+3ab—b-15

(4) —12a-15ab-b—-19

(4a—7ab—4b—5) T (a+3) (b—4) % a7 H F (12a—9ab—2) &l "M W e ¢ -
(1) 12a—3ab-b-15
(
(

—

2) -—12a+3ab-15
3) —12a+3ab-b-15
(4) -12a—15ab—b-19

[Question ID = 37][Question Description = S1_Maths Content/Pedagogy_Q037]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8)
If 4 pipes of same type can fill a tank in 2 hours 15 minutes, then how much time will

5 pipes of same type take to fill the tank ?
(1) 1 hours 30 minutes

(2) 1 hours 48 minutes

(3) 1 hours 55 minutes

(4) 2 hours 5 minutes



7fg T ST 4 TEY 2 =2 15 o2 § U 9% F1 W Tahd §, o 391 YR 5 UEY 39 2F H W
4 foran wwa @ ?

(1) 1 e 30 fiFe
(2) 1 w148 foe
(3) 155 e
(4) 2%¥e5 e

[Question ID = 38][Question Description = S1_Maths Content/Pedagogy_Q038]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

9)
In a class, ratio of number of boys to that of girls is 2 : 3. When three boys leave the class

and 3 new girls join the class, the ratio becomes 3 : 7. How many girls were there in the
class initially ?

1) 6

2) 10
3) 12
(4) 18

ferell shean ), el oI wiefadl it demell T o7qum 2:3 €1 & 19 dgh % 9IS od § 3R
A 72 eTeferal e | Yo9 ofdl 8, O F% 31U 3 : 7 % S § | Y6 H, HE H fopal arefHai o ?
(1) 6

) 10
3) 12
(4) 18

[Question ID = 39][Question Description = S1_Maths Content/Pedagogy_Q039]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10)

1

If 2% + —1;4— = 727 , x > 0, then the value of [x - ;] is :
X

(1) 33
(2) 21
3) 5
@ 7



1
afg x? +%—=727,x>0%,ﬁ [x— ;]wm%‘wz
X

(1) 343
(2) 21
3) >
@) 7

[Question ID = 40][Question Description = S1_Maths Content/Pedagogy_Q040]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

') How many triangles can be drawn having its angles as 30°, 40° and 110° ?

(1) One

(2) Two

(3) Infinitely many
(4) Zero

30°, 40° 99T 110° % T 1ot fohe FIYs ST =71 ¥ahd € 2

(1) T

2 =

(3) uRfd ®9 § eF
(4) A

[Question ID = 41][Question Description = S1_Maths Content/Pedagogy_Q041]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12)
In AABC and APQR, AB=3.1 cm, AC=4.5 cm, PR=3.1 ecm, QR=4.5 cm, ZPRQ=60°
and ZBAC=60". Which one of the following is true ?

(1) AABC=APOR
(2) AABC=ARPQ
(3) AABC=APRQ
(4) AABC=ARQP

AABC 921 APQR H, AB=3.1 cm, AC=4.5 cm, PR=3.1 cm, QR=4.5 cm, £PRQ=60° TNl
/BAC=60°%| Frd 4 R W A §A &7

(1) AABC=APQR

(2) AABC=ARPQ

(3) AABC=APRQ

(4) AABC=ARQP



[Question ID = 42][Question Description = S1_Maths Content/Pedagogy_Q042]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13)

In AABC, side BC is produced to point D and side CA is produced to point E. If
ZBAE = 115" and ZACD =104°, then which of the two angles ZABC and ZBAC is larger
and by how much ?

(1) ZABC, 39°

(2) ZABC, 13°
(3) Z£BAC, 26°
(4) ZBAC, 65°

AABC % ST BC ! famg D ek 991 Y CA =1 fovg E 7 5Ig/ 9l 81 af¢ ZBAE = 115°@el
ZACD=104°§, &1 S FI0il ZABC @21 #BAC H ¥ &iH @1 57€l § IR e w21 &2

(1) ZABC, 39°

(2) ZABC, 13°

(3) <£BAC, 26°

(4) ZBAC, 65°

[Question ID = 43][Question Description = S1_Maths Content/Pedagogy_Q043]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14)
The sides of a triangle are 3 cm, 4 cm and ( x+1) am, where x is an integer. Then, x can
take the value/values :

(1) From 0 cm to 6 cm
(2) From1cmto6cm
(3) From1cmtobdcm
(4) Only 4 cm
ek TS T 9[SIE 3 cm, 4 cm 1 (x+1) cm §, W&l x T YUek &1 @l x T4 o Tohell ©
(1) Ocm ¥ 6 cm TH
(2) lecm H 6 cm TF
3) lcm¥5cmTH
(4) REFA 4 cm
[Question ID = 44][Question Description = S1_Maths Content/Pedagogy_Q044]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]

3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

15)



Angles of a quadrilateral are in theratio 3: 5:4: 6. Then, sum of the smallest and greatest
angles of the quadrilateral is :

(1) 180°
(2) 170°
(3) 140°
(4)  160°

For S S I 3:5:4: 6% ST A ¥ | 79 TS F O B o T 9wl A

(1) 180°
2) 170°
(3) 140°
(4)  160°

[Question ID = 45][Question Description = S1_Maths Content/Pedagogy_Q045]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

16

T)he length of a hall is 60 m, breadth is 32 m and height is 8 m. Area of one of its longer
wall (in m?) is :

(1) 240

(2) 256

(3) 480

(4) 1920

T fc 1 T 60 m, FSE 32 m T H91% 8 m €1 IUSH! UH o] SIaR &1 &5hd (m2 H)
i

(1) 240
(2) 256
(3) 480
(4) 1920

[Question ID = 46][Question Description = S1_Maths Content/Pedagogy_Q046]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

17)



4
The volume (in cm?) of a cylinder, whose base diameter is 8 cm and height is — of the base

8
22
radius, is : (use w= ?)
(1) 154
2) 176
(3) 704
(4) 1408

& Sefd, T SHR %1 =94 8 cm & 3N $4E, Wﬁﬂﬂﬁﬁﬂﬂﬁ%‘&ﬂw(cmgﬁ)

¥ (n= i
(1) 154

2) 176

(3) 704

(4) 1408

[Question ID = 47][Question Description = S1_Maths Content/Pedagogy_Q047]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

18)
The cost of painting a cube on all the faces at the rate of ¥ 3 per cm? is ¥ 1,152. What is the
length of its edge (in cm) ?

(1) 4
(2) 6
(3) 8
(4) 14

T 59 o T Ferehl W T 3 U em? &l A Y= & H @H T 1,152 | THH S I A

(cm H) ToRaT &7
(1) 4

2) 6

(3) 8

@) 14

[Question ID = 48][Question Description = S1_Maths Content/Pedagogy_Q048]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

19)



The median of numbers 10, 8, 2, 7, 3, 8,5, 1 is k. If 10 is replaced by 1, then new median
is 1. The value of (k—r1) is:

(1) -1.5
2) 0
(@) 1
(4) 2

el 10,8,2,7, 3,8, 5, 1 % 9154 k & | afe 9@ 10 1 9@ 1 9 yfaeenfaa fman s, o1 7=
A r 2| (k—1) FHA T

1) -15
2) 0
3 1
4) 2

[Question ID = 49][Question Description = S1_Maths Content/Pedagogy_Q049]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

20)
An integer is chosen from integers 1 to 100 at random. What is the probability that it is
not divisible by 7 ?

_ i7
M %
22
e
7
®) 35
43
4 35

19 100 T o YUTiehl § 9 T YUlish AGIosek ®Y ° I T T9a! 391 Wiiaswar & f& =g g
7 H Tawfsra =@ il 2

17
M 5

22
e

B L
B 355

. B



[Question ID = 50][Question Description = S1_Maths Content/Pedagogy_Q050]

1. 1 [Option ID = 197]

2. 2 [Option ID = 198]

3. 3 [Option ID = 199]

4. 4 [Option ID = 200]

21)

Which of the following represents a correct sequence to develop the concept of patterns ?
(1) Create patterns, Extend patterns, Identify patterns

Extend patterns, Identify patterns, Create patterns

) Identify patterns, Extend patterns, Create patterns

) Create patterns, Identify patterns, Extend patterns

[ I L
—

(
(
(

e

frefafaa § @ @ o afaaml 1 sEur & T # 98 %9 <9 /e ?
(1) Wi =1 gem, Sfaami &1 fomr, Jfaam @ Teem

(2) faemi =1 forar, gfaami 1 9=, Sfaeri =1 gs[

(3) ufqaE! i wg=r, Wfanr #1 fawr, gfadmi & gsH

(4)  wfaaEl 1 g, 9faaHl st ggE, gfaeri o faean

1[Q1ut[e;ti9n |||; =213) : ]][Question Description = S1_Maths Content/Pedagogy_Q051]

2. 2 [Option ID = 202]

3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

22) The errors made by children in mathematics should be :

(I) ignored by a mathematics teacher as they hinder other mathematical processes
minimised by regular testing

L2 I

=

(2)
(3) incorporated as a part of teaching-learning process
(4) dealt by focusing on rigorous solving of questions
e = 1 e
(1) 7! T o fete g1 sTeRa &1 S =feq Fifh 9 39 e giEEaet | T
3 A E
(2) ¢ Frafea v g e fma S =
(3) I Tre-3ferTs YiRal & Uk 9F o ©9 § qaia= fwma s =
(4) 3% HalHd o o7 99al sl IR-9R g A TS higd I =6
[Question ID = 52][Question Description = S1_Maths Content/Pedagogy_Q052]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]

3. 3 [Option ID = 207]
4. 4 [Option ID = 208]



23) A student solved the given quadratic equation in the following way :
x2+6x=27
x> +6x+9=27+9

(x +3)>=36
x4+3=6
xr=6-—-3
r=3

Which of the following represents the error committed by the student ?
(I) Adding 9 on both the sides

(2) Using the wrong algebraic identity
(3) Not including the negative root in the solution
(4)  There is no mistake as both the roots are equal

e faenel 3 fgamd orieo &1 gaaE e g 9w -
x2+6x=27

x> +6x+9=27+9

(x +3)2=36

X+3=6
r=6—3
¥=3

frefafea o @ @@ faemeff g = T 3f =i e 2
(1) Bl 3R 9 = Sre

(2) TIed S HEEHER SN HE

(3) S H HUTcHe Hol | WieAferd 7 e

(4) = 3z 7 T il Sl O I €

1[Q:j?(::t?or:1 I||; :2%2]][Question Description = S1_Maths Content/Pedagogy_Q053]
2. 2 [Option ID = 210]

3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

24) A mathematics teacher should NOT focus on :

(I) developing conceptual understanding in mathematics

(2) various assessment strategies to know the progress of learners
(3) misconceptions developed by students in mathematics

(4) only solving problems in mathematics



s o & e W ehfed & e e ?

(1) 7o 5 ST T3 o o

(2) Teenfei=i =6t goifa =1 S o ferw sTreRe 1 fafi= gl
(3) i H foerfaa famfefei w1 wife

(4) HaA O H GHENST Dl TA HA

[Question ID = 54][Question Description = S1_Maths Content/Pedagogy_Q054]
1. 1 [Option ID = 213]

2. 2 [Option ID = 214]

3. 3 [Option ID = 215]

4. 4 [Option ID = 216]

25)

A teacher asks the students in her mathematics class to give solution for the following two
problems :

“The perimeter of an isosceles triangle is 30 cm. What will be the measurements of its all
the three sides ?”

“The area of a triangle is 36 cm?2, what will be the measure of its base and height ?”
The above problems are an example of :

(1) Using inductive method in mathematics

(2) Using open-ended questions in mathematics

(3) Using closed-ended questions in mathematics

(4)

4) Introducing the concept of area and perimeter

we forferert = Tifor <1 e7oet shen H farnfell @61 freaferfam <1 goenedi 1 e w01 = o = -
" feref) Tmfgang IS o1 9farT 30 cm B 1 39T A1 SIS F 519 @ g 2

“fepet st 1 STRE 36 cm? 1 $H STTUR IR SaTE o1 oY s grn 2
ERHESE L2 L L

(1) o & s faft & sudn %

(2) o § e e A gl % S

(3) Iford | =g THY arel WeAl % S9ENT H

(4) &A% TS URHEM T STEHRS S YEd F H

[Question ID = 55][Question Description = S1_Maths Content/Pedagogy_Q055]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

26)

Which of the following is NOT a desirable aim of mathematics curriculum at upper primary
level according to National Curriculum Framework, 2005 7

(1) Mathematization of child’s mind

(2) Development of deductive reasoning
(3) Making great mathematicians

(

4)  Development of formal problem solving skills



T U= T 2005 % A74R, Fefafead § 9 3= mufas ' w it uemeat o e
|1 T dif5d 594 e 8 7

(1) == % A=k &1 TR
(2) TR fae=m = fasm
(3) HEH TN G

(4)  sio=Tie Taen SoEE SivEl & fawm

[Question ID = 56][Question Description = S1_Maths Content/Pedagogy_Q056]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]
27)
A teacher collected a lot of advertisements from newspapers and magazines on sale and
discounts on many items and showed them in his mathematics classroom. The most
appropriate purpose of the activity is -
(1) To make students understand the real-life application of percentages
(2) To make the class enjoyable and interesting after solving many problems
(3) Toidentify gifted students in his class
(

4)  To show students the importance of reading newspaper

e et 7 IR TE SR et ¥ 95 @ Segel & faskl 1@ 92 WwE 9 faer uEm
Toru, wd Tifor e § 3% fomman | g\ wiiafets = e 3T S5 5

(1) Ternfefai =1 areafess siar & wfawrd & SEEER 1 GagE

(2) S NS FT T H o UYEN FA B AFGHAT AR SR FA

(3) 21t shen W wlasmed fernfedi s g

(4) foenfef=i =1 ToM=R 93 g & Hecd FI <Al

[Question ID = 57][Question Description = S1_Maths Content/Pedagogy_Q057]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]
28)
Which of the following statements is NOT true for developing estimation skills in

measurement ?

(1) Estimation is the pre-skill of measurement

(2) Estimation skills lead to develop problem-solving abilities

(3) Estimation skills help to strengthen measurement skills

(4) Estimation skills reduce the need for learning measurement skills



Frretferfa seml 3 @ HH-91 e 9199 § SHE o % v & faesiad s % fon we w6l

%2
(1)
(2)
(3)
(4)

SFHIA ST HTT %1 Ge-h1erel &

STTHM TR 1 9 THEN-FHYH &1 Argarel & faerg 1 oK o S §
T & VTS 1 ge F H ST T H1 R TErEl L §

TI9 o 19T I GiE 1 SRl &l A T R F5 Hd @

[Question ID = 58][Question Description = S1_Maths Content/Pedagogy_Q058]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

29)

Which of the following is the most appropriate example of an exploratory project related
to the idea of “data handling” for class VI students ?

(1) Teacher tells the students to measure their own heights and record the findings

(2) Students collect data on time spend by them in various daily activities and then
organize and analyse the data

(3) Students make different types of pictographs and pie charts on a display chart

(4) Students are made to learn data handling using computers

frefafed & & - wan VI % fafeEi § s =1 yevm'’ & foar § weifa fad

STayuita OIS 1 Hed SUE ISR B 7

(1) Torrer forenfef=i =t oot S A &fR erqn Fremat =1 eifercifaa & % fag e @

(2) Terneft fafir= S fharrardl W =dia fog T 999 & Siee TS & © AR sAiwe]
%l gAaEdd Y § U forgeranr #3d €

(3) faenedf yeel =@ w fafv= yom % fesmem ws gaivE &9 €

(4) ufterm (FEX) H STER F famned #1 stiwet w1 weiv foarn s &

[Question ID = 59][Question Description = S1_Maths Content/Pedagogy_Q059]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

30)



Which among the following is/are the most appropriate tool/tools for assessing open-
ended problems in mathematics ?

(a) Portfolios

(b)  Discussion

(c) Rubrics

(d) Term-end examination

Choose the correct option.

(1) () and (d)

() Only ()
(3) (b) and (c)
(4) Only (a)

Frfafeaa § @ sF-a1/@ e o go it o 995 % steer & oy gaifies sogea 9eF 2/

(a) I

(b) Of==l

(c) ot

(d) S e

el fasey &1 =99 sifeu |
(1) (@) 3R (d)

(2) FFE (d)

(3) (b) R ()

(4) Ed (a)

[Question ID = 60][Question Description = S1_Maths Content/Pedagogy_Q060]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- SCIENCE_P2_CTET

D Match the diseases in Column I with their causative organism in Column IL

Column I Column II

(A) Malaria (i) Bacteria
(B) Chicken pox (i) Virus

(C) Typhoid (iti) Fungi

(D) Ringworm (iv) Protozoa
(1) (A, (B)-G), (O)-(iv), (D)-(iii)

(2)  (A)y@v), (B)-(i), (O)-(1), (D)-(ii)

(3)  (A)-(), ( (i), (O)-(1), (D)-(iv)

(4 (A)av), (B)-(), (©)-(ii), (D)-(iii)



WY 1% T o1 T4 11 H U 7T 3k ek siial & Yufed Sifeg
L | WY 11

(A) wefen () SiEmg

(B) (i) femy

(C) SAEVZEARES (iii) *hdeh

(D) TE (iv) e
(1) (A)(i), (B)-(), (O)-(iv), (D)-(ii)

(2 (A)-(iv), (B)-(ii), (O)-(i), (D)-(ii)

(3)  (A)(i), (B)-(ii), (O)-(1), (D)-(iv)

(4 (A)-(iv), (B)-(i), (O)-(ii), (D)-(iii)

[Question ID = 61][Question Description = S1_Science_Q061]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]
2) Which of the following statements is/are correct ?
(A) Melting of butter is a chemical and reversible change
B) Crystallisation of sugar is a physical and irreversible change
C) Vapourization of iodine is a physical change
1) (A) and (B)
2) Only (B)
3) (B)and (O)
4) Only (C)

S e
e e

frfafad 5 | &M 978 w99 T8 o8 2

(A) WeRa &1 sl Uk TEEfe Schui qited & |
(B) It o foreem U ofiftss iR sFeraoia ufiEds ¥
(C) STEEH &1 arsfiey U Hifas e 21

(1) (A) iR (B)
(2) A (B)
(3) (B) 3R (C)
(4 F=a(Q)

[Question ID = 62][Question Description = S1_Science_Q062]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3)



A train starts from Guwahati on 315t August at 13:40 and reaches Banglore on ond September at
15:20. If the distance between Guwahati and Banglore is 2084 km, what is the average speed of
the train ?

(1) 42 km/h

(2) 812 km/h
(3) 47.3 km/h
(4) 75 km/h

e YTl 31 SR o 13:40 T TETeTE! | oM YRY id] & 3 2 faamsr 15:20 o191 e wgod &1 3fg
AR A ST o & i gl 2084 R €1 T9 RS i 2Ad e 4 an 2
(1) 42 fe.t./s
(2) 812 fohH/E=T
(3) 47.3 feRHL/E
(4) 75 T =82
1[Q1u¢[a;titgn |I|; =2(:£]][Question Description = S1_Science_Q063]
2. 2 [Option ID = 250]

3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4)
Which of the following correctly describes the difference between a zoo and a wildlife sanctuary ?

(1) A wild life sanctuary houses the animals that are found locally in an area while in a zoo
animals brought from all over the world are kept

(2) Wildlife sanctuaries provide artificial habitats to animals while animals are protected in their
natural habitats in a zoo

(3) Hunting and poaching is prohibited in a zoo but allowed in a wildlife sanctuary

(4) A wild life sanctuary is typically confined to a small area whereas a zoo is spread over a
large area

frefafag § 9 s 91 faeeq 9ot 3a9 te o= gl 319Eeg § 981 fadeT e ©

(1) TF I A AT H, T &5 § 91 S 911 sig & ¢ Stk U 910 2 H§ g s/ 3 &g
T SigAT h! @ S

(2) o WIOit SHIROS Sl sl HiAH AR YSH Hid € Sefeh Wl I | 9ioft 319+ Wiskfaes sE H
fad e T

(3) it ZEme H R wd erferen Rrer afsia € freg o= wiolt st # T e 2

(4) TH T IO SER0E UF Bie &3 9% HiiHd @a1 8 s U wofl 8 U ged & 4 fowga @
gl

[Question ID = 64][Question Description = S1_Science_Q064]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]



5)

Which of the following characteristics is NOT usually associated with the animals found in polar
region ?

(1) White fur

(2) Strong sense of smell

(3) A layer of fat under the skin
(4)

4) Narrow and small paws

frefefaa 5 | @ o qoend goft 6l § 98 S o wifor | et 98§ 2
(1) v&a &
(2) 7Y = I gAS §HA
(3) TNk A FH Uk WA
(4) Henivi UE B US
1[Q:J?;ti9n |I|; =26;3]][Question Description = S1_Science_Q065]
2. 2 [Option ID = 258]

3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6) Select the correct statement.
(1)  All living cells have a cell wall
(2) All living cells have a well organised nucleus
(3) All living cells have cytoplasm
(4)  All living cells have chloroplasts

FI%QIEE?H_'EIFFTQ:

(1) =+t Sfifaa wifvemed § us wifven fafa &dt 21
(2) =t Shifam FifeEme § v gerarerd wEsm 2 g |
(3) Tt Shfea Hifersmed & wiferr g=a S 2

(4) =ft Sfifaa Fifeemed # efdaas € g

[Question ID = 66][Question Description = S1_Science_Q066]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7)



Which of the following thermometers can be used to measure the temperature of boiling water ?

(A) Clinical thermometer

(B) Laboratory thermometer

(C) Maximum - Minimum thermometer
(1) Only (A)

() (A)and (B)

(3)  Only (B)

(4)  (A)and (C)

frferfag § 9 W o1 yuiHeyarTa ) Sae STel &1 aT9eH 919 F foe e g e 2

(A) SferRdl arqETd

(B) WARTEIE ATTHIG

(C) SIfERdH——gAde ATt
(1) hEa (A)

(2) (A) ¥R (B)

(3) =9 (B)

(9 (A #ER(©Q

[Question ID = 67][Question Description = S1_Science_Q067]

1. 1 [Option ID = 265]

2. 2 [Option ID = 266]

3. 3 [Option ID = 267]

4. 4 [Option ID = 268]

8) Read the following statements carefully and select the correct option.
Assertion [A] : Salt solution is a good conductor of electricity
Reasoning [R] : Salt dissociates into ions when dissolved in water
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is NOT the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A) is false but (R) is true

frefafad sweml #1 Teariyes afed iR 98 faswe &1 =997 Hifa
afime (A) v faerm foem =1 & 39 9w B g
W (R) . TG S | S W A § fosfed g §)

(1) (A) 3 (R) B &7 € 3 (A) Fl (R) Hel =0 B

(2) (A) 3 (R) SHI ¥ 2 g (A) o1 (R) T =T 781 2 |

(3) (A) ¥ & g (R) s/ €1

(4) (A) 378 g fg (R) 5 F

[Question ID = 68][Question Description = S1_Science_Q068]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]



3. 3 [Option ID = 271]
4. 4 [Option ID = 272]
%) Which of the following always form virtual images ?
(I) Concave mirror, convex lens, plane mirror
(2) Plane mirror, convex mirror, concave lens
(3) Convex mirror, concave lens, convex lens
(

4)  Plane mirror, concave mirror, Convex mirror

Trafafea § 9 #F 9 wder snurd gfafss s=m @
(1) 3T g4V, Sadel ©F, HHaS g9
(2) HETA TYUI, IAdA UV, IAA GH
(3) 3Tadd TYY, ITA ©iF, HadA ad
(4) HHAS TYUI, ITA YU, FEAA YUl
[Question ID = 69][Question Description = S1_Science_Q069]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]

3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10)
A small aluminium rod 5 cm X 10 cm sinks when immersed in water taken in a container. Which
of the following actions can be helpful in making this rod float ?

A) Adding more water to the container

B) Reshaping the rod in the shape of a boat
1) Only (A)
2) Only (B)

3
4

Neither (A) nor (B)

(
(
(
(
(
( Both (A) and (B)

LI St S

T A H fan e d 5 HHL x 10 HH. 5 it 5 v 2 38 gan W g 9l ¢ | Fefatea
T i o fFad @5 #1 T § 78E & T € 2

(A) 9 H IR feer Sa S = |

(B) I A1 i SMMehid ol Y: 3RK 571 ST

(1) hee (A)
(2) % (B)
(3) F(A)TE (B)

(4 (A) 3R (B) I

[Question ID = 70][Question Description = S1_Science_Q070]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]



11)
Match the mixture in Column I with the method that can be used to seperate it in Column IL

Column I Column II
A) Chalk powder and water (i) Crystallisation
B) Camphor and salt (ii) Centrifugation
C) Sugar and water (iii) Filteration
D) Fat and cream (iv) Sublimation

(A) - (i), (B) - (1), (C

w3
e

e T e R e T e TR e R e e e
S e e

WY 1 WY 11
(A) i IEE SR 9E @) forweiswm
(B) P R THH (i) FHIHE
(C) =HI 3R & (iii) BN
(D) &9 3R HH (iv) SeuTEA
(1) (A) - (i), (B) - (ii), (C) - (), (D) - (iv)
(2 (A)- (i), (B) - (i), (C) - (i), (D) - (iv)
(3) (A)- (i), (B) - (iv), (C) - (i), (D) - (ii)
) (A)-(iv), (B) - (1), (C) - (i), (D) - (iii)

[Question ID = 71][Question Description = S1_Science_Q071]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

2) Read the following statements carefully and select the correct option
Assertion (A) : Gases diffuse very fast into other gases
Reasoning (R) : Gases have large intermolecular spaces
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) Both (A) and (R) are false



frefafad weml #1 wayes ufed iR 9& faweq &1 ==  Fifeu
stfuere (A) T digar & o= Ei § faafa ddt €1
TR (R) T o geq faetiva® Sfaue 2 €|
(1) (A) 3 (R) S W € 31 (A) I (R) HET =ATA Fdl 8
(2) (A) ¥R (R) SF1 5 € g (A) T (R) T = 781 &1
(3) (A) T ¢ g (R) 9 €
(4) (A) 3R (R) T 3T8A F |
1FQ:J?;:)it?or:‘ III[)) :Zzgl[Question Description = S1_Science_Q072]
2. 2 [Option ID = 286]

3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) Identify the correct statement from among the following,.
(1) Bases are sour in taste
2) Bases give pink colour in phenolphthalian

(2)
(3) Bases have a pH value of less than 7
(4) Bases turn blue litmus red

Trefafad § | 981 sed & 9g=r hifer
(1) R@\EH B

(2) &R BEePRfed % Fe e 1 B
(3) @RI %1 pH HM 7 H 71 2 81

(4) #R et feeas 1 ara T S €

[Question ID = 73][Question Description = S1_Science_Q073]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14)

Read the following sentence and identify the set of words which would correctly fill the blanks in
the given order :

In humans the production of male hormone or __(i) _ and female hormone or __(ii) _ is under the
control of another hormone secreted from __(iii)  gland.

(1) (i) - testosterone, (ii) - estrogen, (iii) - thyroid

(2) (i) - estrogen, (ii) - testosterone, (iii) - pitutiary
(3) (i) - testosterone, (ii) - estrogen, (iii) - pitutiary
(4) (i) - testosterone, (ii) - adrenalin, (iii) - thyroid



Frfafea amm feu oIk e & 39 9= & Teae ) fEu 7o s faa T 1 981 ¥R gid e |
HFE] H AR EHA A (1) SR A BEE A (), (i) WY R giferd 1= gl o s H g e

(1) (i) - TR, (id) - T2IeH, (idi) - SIS
(2) (i) - TEISH, (i) - SEEA, (iii) - T
(3) () - SRR, (id) - TS, (i) - I
(4) (i) - TEERA, (i) - T, (i) - TS

[Question ID = 74][Question Description = S1_Science_Q074]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]
15 Which of the following is NOT a straight line graph ?
(1) distance - time graph of a uniformly accelerating object
(2) distance - time graph of an object at rest
(3) velocity - time graph of an object moving with constant velocity
(4) velocity - time graph of an object moving with uniform acceleration

frefafea § 4 = s die v s 7@ 27

(1) fordlt w9 @fa =1 - s

(2) TormmERen # fel =% # gi-90d AeE

(3) W sufierd=ra a1 9§ fd FA I FH A-TET eE
(4) HHE @0 H Wl AT a1 AT SR

[Question ID = 75][Question Description = S1_Science_Q075]

1. 1 [Option ID = 297]

2. 2 [Option ID = 298]

3. 3 [Option ID = 299]

4. 4 [Option ID = 300]

16) Which of the following statements is NOT correct ?
(1) Generally, non-metals do not react with acids
(2) Non-metallic oxides are basic in nature

(3) Generally, non-metals do not react with water

4 Non-metals are neither malleable nor ductile

frefafiaa § 9 s %97 O & 82

(1) W, gy s § safafswan 78 &)
(2) enfereh SRS YRl 9 g 2 €1
(3) WM:, QU St | sfafoR TR L |
(4) 3T 1 A S At € @R T & T

[Question ID = 76][Question Description = S1_Science_Q076]
1. 1 [Option ID = 301]



2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

17)

The chart given below depicts the weather averages of an Indian city from Jan to July of a year for

the period 1991-2021.

Jan Feb | March | Apr May June July
Max Temp TI2¢€ | 138€ |IWRIE | 2219€ |25 22¢ | 2532 € | 23.B65€C
Min Temp L7 (e O 3.3°3C | 7.8 C [11.6°C [15.1°C [ 17.3°C
Humidity 69 % 67 % 60% 50% 50 % 64 % 76%
Sheption { 84 116 | 117 | 100 79 167 | 393
Rain fall mm

To which of the following cities can the above chart belong ?

(1) Kochi
(2) Shimla
(3) Karnal
(49) Jodhpur
=9 feu U = | 1991-2021 % 290k 1 Ay &l el ¥ S 6, ot ardi set o1 oiwa J9mE fem
TNE

et | wEd | wE | eiw | WE | e
s1feray aroaH 11.22C | 13°C |17.3°C|22.1°C | 25.2°C | 25.3°C [ 23.6°C
FATH TIHE =1.72C| 0=C 332C | 78°C [11.6°C|15.12C|173=C
I 69% 67% 60 % 50% 50% 64% 76%
ST /9 mm 84 116 117 100 79 167 393
Trefafea § 4 frg vt 9 STE 918 9efad 8 ghai g 2
(1) ==
(2) fomwen
(3) HIAA
(4) SIEER

[Question ID = 77][Question Description = S1_Science_Q077]

1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]




18) Which of the following statements about fertilizers is NOT correct ?

(1) They are inorganic salts

2) They are very rich in plant nutrients

4

(
(3) They provide humus to the soil
(4) They are made in factories

Fath! F ey ¥ Frefafad § 9 S 9 S99 98 @ 87

(1) & STwEHR TG |

(2) 3 el % dreeri 9 etfa T9gg €

(3) ¥ I I WIS YSH FLd B |
(4) 3 FHREHE H T S E |

[Question ID = 78][Question Description = S1_Science_Q078]

1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

19)

Match the names of the organs of the human digestive system given in Column I with their functions

in Column II.

Column 1
A) Mouth (1)
B) Stomach (ii)
C) Liver (iii)
D) Small Intestine (iv)
) Large Intestine (v)

e T e T i T i e e
e

Column II

Has villi for increasing the area of absorption
Secretes bile that helps in digestion of fats

Absorbs water and some salts from undigested food
Breaking down of starch to sugar

Secretes acid to help digestive juices to act

(A)y(v), (B ) (1), (O)-(1), (D)-(iii), (E)-(iv)

i)

2)  (A)y(v), (B)-(v), (O)-(id), (D)-(1), (E)-(ii
3)  (A)), B)-(v), (O)-(1), (D)-(ii), (E)-(iii)
4)  (A)(v), (B)-(ii), (C)-(v), (D)-(iii), (E)-()



WY 1 ¥ fou gFd o gr=d o &+ 2 & 99 W@ 11H 5T T 376 gl | gafad sifs

L WY 11
(A) Hg () T & 1 gfg % feu Seim 39 §
(B) 3N () fos =1 g F § S I F ue E geew d
(C) FFd (i) erafaa oM § 9e iR 2 9 sravifud #d §
(D) B (iv) = v o fowed i §
(E) 9&d 3 (v) rEe 3 o wE e H gemEd % for st w1 ue e ©
(1) (A)-(v), B)-(), (O)-(1), (D)-(iii), (E)-(iv)
(2)  (A)(iv), (B)-(v), (O)-(i), (D)-(0), (E)-(iid

( ( )
(3)  (A)(v), (B)-(iv), (O)-(1), (D)-(ih), (E)-(ii)
(A)-(iv), (B)-(i), (C)-(v), (D)-(i), (E)-(3)

[Question ID = 79][Question Description = S1_Science_Q079]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

20) Read the following statements carefully and select the correct option.

Assertion (A) Synthetic clothes dry faster than cotton clothes
Reasoning (R) : Synthetic fabrics have large pores
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

frefafad weel =i eamqdes ufgu iR 98 famed &1 =97 Fife
AfUeReF (A) el HuSl § Gyt H9S Sedl gEd |

TR (R) . Hyeitug #el ° 9 fog 2a €

(1) (A) 3R (R) ST &4 € 311 (A) #l (R) HEl 401 B |

(2) (A) X (R) SF1 5 € g (A) T (R) T = 781 &1
(3) (A) T ¢ g (R) s €1

(4) (A) 375 g fog (R) 59 E

[Question ID = 80][Question Description = S1_Science_Q080]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

21)



A class VI teacher begins to teach the property of materials by first explaining the structure of
atom and the concept of elements and compounds. Which of the following curricular validities is
being violated in this case ?

(1) Historical

(2) Ethical

(3) Cognitive

(4) Environmental

el VI % Ueh fo1a1eh = 9o AT i HIEA1 3R qel U AMfTeh] o S9ead 1 THed gU, vgie o 1 &
foreror sty forem | 29 wreE=El © frefafaa § @ fFa du #1 Seeiam gen 872
(1) Ufaerees

(2) Hifaaes
(3) HIAFEHR
(4) araEfoEs

[Question ID = 81][Question Description = S1_Science_Q081]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

22

I\/)Iatch the process skills in Column A with their corresponding indicators in Column B.
Column A Column B

(A) Observing (i) Attempting to explain observations in terms of some principles

or concepfts

(B) Hypothesising (i) Displaying results using graphs, tables etc

(C) Predicting (iii) Making functional models

(D) Comunicating (iv) Identifying similarities between different objects

(E) Designing (v) Using patterns to extrapolate to unfamiliar situations

(1) (A)(v), B)-Gi), (©)-(i), (D)-(i), (E)-(iv)

(2)  (AX(v), (B)-(), (O)-(v), (D)), (B)-(ii)

(3)  (A)v), BI-(v), (O-(), (D)-i), (E)-ii)

(4)  (AX(), (B)-(v), (©)-(1), (D)-(ii), (B)-(iv)



WY AT feu 7T ufmEa v w WY B H fTU T 3 99 gl § gafad s
WY A WY B
@) w1 e e g ¥ a9ee w5 v
B) Ufsew & (i)  ufumdHi o eerdl, arfuEl senfs g gwi
(C) &M =TT (i) AT R
(D) I FHE (iv) fafsr= seqell % offe gararst #1 geamE
(B) SIfsheqal T (v)  WiEm1 o AT #1 SE ferfad o sféaw s

(1) (ARV), B)-(), (©)-(), (D)-), (E)-(iv)
(2 (A)-(v), (B)-(1), (O~(v), (D)-(ii), (E)-(iii)
(3)  (A)@v), (B)-(v), (O)-(1), (D)-(iii), (E)-(ii)
(@) (A)(), (B)-(v), (O)-(1), (D)-(id), (E)-(iv)

[Question ID = 82][Question Description = S1_Science_Q082]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

23)

To teach her students about the conditions required for photosynthesis to take place in plants, a
class 8 teacher began by defining the process of pholosynthesis and then listing the various factors
required for photosynthesis viz. sunlight, water and air. She then engaged her students in a
group project in which they themselves verified the importance of each factor over the next few
days. How would you evaluate this strategy from the point of view of inquiry-oriented pedagogy.

(1) The strategy is appropriate because conceptual framework was laid out right in the beginning

(2) The strategy is inappropriate because the teacher should have explained the chemical reaction
of photosynthesis also in the beginning

(3) The strategy is appropriate but it should have been done as individual activity and not as a
group project

(4) The strategy is in appropriate because it is prescriptive and there is no scope for investigation

vl B WeRTST HYCTIU ot sk =t Fifed feafaai = eroe faenfolat =6 forero w5 g, a0 8 & us ffee

T e YA % YR 1 gRenfu e SRy o, siR dewsng wern weer o Sifed fafe e

S T YT, S AR 91 o gEEs e 79 32 eta faenfeiEt @6t v g it | s o,

foratl =207 st o Al #, Uie e o1 He™ WE St | Sirg- e faan s & gfeso F ey

Y AMSAT 1 oF8 TR SAeher il 7

(1) A1 399 & Fiifeh Hueqdl SULEl o1 SR YRy | & =1 Tz mam on

(2) IS SO & it farferert =61 werrer Gyeryor st wEmEf eifufear s gy 8§ € gwen < =it
o

(3) AT SUgE ¥ T 8 dafs framememy & ®9 # fan st =nfew on 7 f @y ufEsmn % &9
H

(4) ST STIIH € Fifh T8 FRYTHE ¢ K TIH @I F1 HlE ST T8 2|




[Question ID = 83][Question Description = S1_Science_Q083]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

24)

A teacher wanted her students to investigate the effect of length of a simple pendulum on its time
period. She guided her students to set up an experiment based on varying the factor of interest
while holding the other factors constant across situations. Which of the following statements
would be correct about the experiment they set up for this purpose ?

(1) Length of the pendulum would be a dependent variable
(2) Length of the pendulum would be a controlled variable

(3) Time-period of the pendulum would be a dependent variable

(4) Time-period of the pendulum would be a controlled variable

us forfee =l off for 37 faeneli U w3 <ot % ST el W Ear % 9dE S w1 FRH T
Forenfef=i st Tan g Fe or9 & 1 Aniee foan formd gt feufaedi o v % #ne i S #: ol gt
ST ol TEor 1@ T | 36 Sevd % few He-y foRu e A o wew | frefated | | i e wel
B ?

(1) TIeish i eere Tk 4y afterd! arit |

(2) TIeTh i @erg U TEEa gftedt g

(3) &IeTeh =1 STTE shlel Ueh T4 gierd! 2

(4) <ToTR I e e Uk aiedt i

[Question ID = 84][Question Description = S1_Science_Q084]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

25)
Identify the inference from among the following statements :

(1)  All species produce a much larger number of offspring than the number which survive to
become adults

(2) Production of more individuals of a species than the environment can support lead to a
struggle for existence among them

(3) Individuals of a population vary extensively in their characteristics
(4) Populations tend to remain stable in size, excepting seasonal fluctuations



Trefafad swemi § 4 stgfafa =1 g .

(1)
(2)

(3)
(4)

Tt Sfer, 9% e S Siifaa W R 99%E 9 &, S wal oA g o gafd S e €
ot fa =1 o Hafa gafaror dife 9 %2 9%, S99 sfus gafd %1 3= 891 39 afas &
o s g ey Fen g

ol wHfie & 92 o797 ToeHl | = 9 9 fafay g )

Fofteal, A 3qR FgE & A, GiEs § W @ %l Y w@dl 2

[Question ID = 85][Question Description = S1_Science_Q085]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

26)

Which of the following is NOT an objective of organising group activities in a science class ?

(1)
(2)
(3)
(4)

To encourage students to work with each other for a common goal
To encourage students to compete with each other

To encourage students to learn from one-another

To inculcate a sense of collective responsibility in students

o =t forelt pen & T fFammemy smifsa = 1 fefafed § 9 =0 v Siva 7@ §7

(1)
(2)
(3)
(4)

T HHH @1&d I Wi o foru faenfei=i =1 v g8 & w19 % &ie & 6 gieafed e
femnfefai =01 we gt & wfaeasl & fog deefed &

Terenfei =1 Tk e § Hign & fau dredied &

feenfef & ww wrfes SR F WIS 1 THEY HE

[Question ID = 86][Question Description = S1_Science_Q086]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

27)

Read the paragraph below;

“Charles Robert Darwin (1809-1882) set out on a voyage when he was 22 years old. The studies
that he conducted during this voyage provide a deep understanding about the variety of life on
earth. After he got back to England, he stayed there and conducted various experiments that led
him to hypothesise. That evolution took place due to natural selection. He would have been
enlightened by Mendel’s experiments, but these two gentlemen did not know of each other’s work”

Which of the following understandings about science and scientific activities is supported by the

above ?

(1) Hypothesis are always formed prior to experiments
(2) Sharing of work among scientists can be beneficial
(3) Scientific studies require special apparatus

(4) Scientists are ususlly young people



Ao fqu TTY S=se & HAFYEs Uiey

od =Ted e SIEA (1809-1882) 22 9 & &, 76 & U TUgT I W et | amn & S fvu U 37k
el A Yot W St ok faferer o e H wh el gne wer w1 W S A0 TS g, 99 SR Rl
' o fafsm= warn fore foa@ 3 == fagia € ue fo Siem =1 faem miefos 9 gR gen 81 3% dea &
g § yeliee e Hehar o foheg 4 1 Herg e U g6 o kAl &l 6l od 9 |

frafafea § § @ w1 four foagm v faam & framrard & foe Swiie g/ smfda €

(1) &R & gd gder uftereaan o1 faio feman smar g1

(2) ARt § wE dEn S et enuerEes el 2 HehdT |

(3) SR stezEl 1 fasiy SushTul i STeErvaehar g 8

(4) AT U JAEM €

[Question ID = 87][Question Description = S1_Science_Q087]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]
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Which of the following would be the most appropriate way to teach class VI students about the
phases of moon and varying position of constellations in the sky ?

(1) Organizing a class discussion in which students share their experiences
(2) Taking students to a visit to a planetarium and answering their questions

(3) Asking students to observe the night sky for two months and record and discuss their
observations

(4) Bringing a good encylopedia on science to class to explain the relevant topics
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Which of the following can be a suitable indicator for assessing students interest in science ?
(1) Measures physical quantities using appropriate apparatus, instruments and devices
(2) Demonstrates an awareness about the contemporary research trends

(3) Derives formulae, equations and laws
(4)

4 Uses correct scientific conventions and symbols
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[Question ID = 89][Question Description = S1_Science_Q089]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]
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Which of the following is a desirable strategy to be followed by science teachers in encouraging
inquiry-oriented laboratory work ?

(1) Classes should begin with a demonstration of the task by the teacher

(2) Students should be helped to verify the principles that have been taught to them
(3) Classes should begin by posing a problem
(4)

4)  Focus should be on leading students to reach the correct answers
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2. 2 [Option ID = 358]

3. 3 [Option ID = 359]
4. 4 [Option ID = 360]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1.

Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

Study the following statements :

(A)

(B)

=

(1)
(2)
(3)

S S

(4)

Trekking in the contemporary world is nothing but a means to satisfy our intense
excitement and stimulation.

Trekking is treated unjustifiably as a modern form of adventure tourism and geo-
tourism.

(A) is correct and (B) is incorrect.
(B) is correct and (A) is incorrect.
Both (A) and (B) are correct.
Both (A) and (B) are incorrect.

[Question ID = 151][Question Description = S1_English Content/Pedagogy_Q091]
1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3. 3 [Option ID = 603]
4. 4 [Option ID = 604]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1.

Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

“he spent much time wandering in the Himalayas’. Which word from the following can

replace the underlined word ?

(1)
(2)
(3)
(4)

exploring
dawdling
pursuing
contemplating

[Question ID = 152][Question Description = S1_English Content/Pedagogy_Q092]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1. Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

2. In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

3. Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

4.  People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

What is the misconception related to trekking that people have ? That it is only related
to

(1) challenges
(2) geo-diversity
(3) mountains
(4) terrains

[Question ID = 153][Question Description = S1_English Content/Pedagogy_Q093]

1
2
3.
4

. 1 [Option ID = 609]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1.

Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

All of these allow a person to come true in very unusal circumstances. The expression
"allows a person to come true’ here refers to :

come face to face with
come out with his power
bring out his inner vanities
bring out the devil in him

[Question ID = 154][Question Description = S1_English Content/Pedagogy_Q094]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1.

Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

“Trekking in today’s world has become an accepted vacation activity due to :

(
(
(

(4)

D)

(SR LS

its affordability.

the availability of advanced protective gears.
more of physical and mental ability.

more opportunities of spending on adventure.

[Question ID = 155][Question Description = S1_English Content/Pedagogy_Q095]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1.

Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

[t not only gives physical and mental stimulation but also helps in :

(1)
(2)
(3

(4)

psychological growth
sociological strength
physiological rush
biological power

[Question ID = 156][Question Description = S1_English Content/Pedagogy_Q096]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4 [Option ID = 624]

7)



Read the passage given below and answer the question that follow by choosing the
correct options.

1. Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

2. In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

3.  Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

4.  People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

Find the synonym of the word “intuition” (Para 4) from the list given below :
(1) reasoning
(2) intelligence
(3) instinct
(4) industrious
[Question ID = 157][Question Description = S1_English Content/Pedagogy_Q097]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]

3. 3 [Option ID = 627]
4. 4 [Option ID = 628]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1. Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

2. In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

3.  Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

4.  People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

Find the antonym of the word ‘condemned” (Para 4) from the list given below :
(1) applauded

(2) denounced

(3) complained

(4) endorsed

[Question ID = 158][Question Description = S1_English Content/Pedagogy_Q098]
1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3. 3 [Option ID = 631]
4. 4 [Option ID = 632]
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Read the passage given below and answer the question that follow by choosing the
correct options.

1. Trekking is one of the latest trends in tourism in the world. It is treated primarily as
a modern form of adventure tourism and geo-tourism. On the one hand, due to the
extreme terrain where it can be practiced and a certain dose of adrenaline, is treated
as a form of adventure tourism. The desire to achieve, acquire and reach out to
many of the most difficult places decide on the characteristics of a sports competition

2. In 1965 the colonial army of colonel Jimmy Roberts introduced the word trekking
into the world tourism vocabulary. As a former officer of the Gurkha force in Nepal
and a representative of the British military government in Kathmandu, he spent
much time wandering in the Himalayas. These were the beginnings of trekking
expeditions.

3.  Although, it seems that in today’s world all the places have already been discovered,
still there may appear new challenges. On the other hand, the beauty of trekking
relies on that it is implemented in an extraordinary and stunning natural and
geological environment. Despite many challenges, tourists are attracted by
geodiversity and fascinating landscapes, changing weather conditions or spiritual
survival. It is often associated only with mountains, but it must be emphasized that
one may distinguish eight types of trekking, these are: mountain, desert, tropical,
glacial, polar, river, swamps and volcanic trekking. All of these allow a person to
come true in very unusual circumstances.

4.  People also discover and learn about their own abilities, both mental and physical.
Modern trekker has many more opportunities of exploration of challenging
environments. Comfortable clothing and equipment ensure a high level of safety.
Adventurers and explorers functioned quite differently for ages, they were
condemned to intuition, and had only to wipe the migratory paths on which a larger
and larger groups of tourists are wandering.

‘he spent much time...", Which part of speech does ‘much” belong to ?

(1) Pronoun

(2) Preposition

(3) Conjunction

(4) Adjective
[Question ID = 159][Question Description = S1_English Content/Pedagogy_Q099]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]

3. 3 [Option ID = 635]
4. 4 [Option ID = 636]
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1 Read the poem given below and answer the question that follow :
And you feel so alone,
when the rain doesn’t stop
And you can’t make it home,
When it feels all is lost
And you just want to run,
It can’t rain forever.
Just wait for the sun.

When family is pain,

When friends can’t be found,
When you just want to scream
But you can’t find the sound,
When it’s all your fault,

And you feel like you're done,
Just wait for the sun.

The sunshine will come.

Dark clouds always pass.

I promise you, hun.

We're all waiting with you.
Just wait for the sun.

Identify the poetic device in the given line.
When ﬁlmily is pain,

(1) Metaphor

(2) Alliteration

(3) Onomatopoeia

(4) Simile

[Question ID = 160][Question Description = S1_English Content/Pedagogy_Q100]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]



2) Read the poem given below and answer the question that follow :
And you feel so alone,
when the rain doesn’t stop
And you can’t make it home,
When it feels all is lost
And you just want to run,
It can’t rain forever.
Just wait for the sun.

When family is pain,

When friends can’t be found,
When you just want to scream
But you can’t find the sound,
When it's all your fault,

And you feel like you're done,
Just wait for the sun.

The sunshine will come.

Dark clouds always pass.

I promise you, hun.

We're all waiting with you.
Just wait for the sun.

The poem deals with the spirit of :

(1) optimism

(2) pessimism

(3) curiosity

(4) relationship
[Question ID = 161][Question Description = S1_English Content/Pedagogy_Q101]
1 [Option ID = 641]
2 [Option ID = 642]

3 [Option ID = 643]
. 4 [Option ID = 644]
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3) Read the poem given below and answer the question that follow :

And you feel so alone,

when the rain doesn’t stop
And you can’t make it home,
When it feels all is lost

And you just want to run,

It can’t rain forever.

Just wait for the sun.

When family is pain,

When friends can’t be found,
When you just want to scream
But you can’t find the sound,
When it's all your fault,

And you feel like you're done,
Just wait for the sun.

The sunshine will come.

Dark clouds always pass.

I promise you, hun.

We're all waiting with you.
Just wait for the sun.

What does the phrase “dark clouds” stand for ?
(1) Ilness

(2) I fortune

(3) Storm

(4) Downpour

[Question ID = 162][Question Description = S1_English Content/Pedagogy_Q102]
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4 Read the poem given below and answer the question that follow :
And you feel so alone,
when the rain doesn’t stop
And you can’t make it home,
When it feels all is lost
And you just want to run,
It can’t rain forever.
Just wait for the sun.

When family is pain,

When friends can’t be found,
When you just want to scream
But you can’t find the sound,
When it's all your fault,

And you feel like you're done,
Just wait for the sun.

The sunshine will come.

Dark clouds always pass.

I promise you, hun.

We're all waiting with you.
Just wait for the sun.

When you are done means

(1) exerted

(2) existed

(3) exhausted

(4) exposed
[Question ID = 163][Question Description = S1_English Content/Pedagogy_Q103]
1 [Option ID = 649]
2 [Option ID = 650]

3 [Option ID = 651]
4 [Option ID = 652]
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®) Read the poem given below and answer the question that follow :
And you feel so alone,
when the rain doesn’t stop
And you can’t make it home,
When it feels all is lost
And you just want to run,
It can’t rain forever.
Just wait for the sun.

When family is pain,

When friends can’t be found,
When you just want to scream
But you can’t find the sound,
When it’s all your fault,

And you feel like you're done,
Just wait for the sun.

The sunshine will come.

Dark clouds always pass.

I promise you, hun.

We're all waiting with you.
Just wait for the sun.

Which of the following expressions can be attributed as slang ?
(1) Please wait for the sun
(2) warm up your soul like the sunshine.
(3) Dark clouds always pass.
(4) I promise you, hun.
[Question ID = 164][Question Description = S1_English Content/Pedagogy_Q104]
1 [Option ID = 653]
2 [Option ID = 654]

3 [Option ID = 655]
4 [Option ID = 656]
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) Read the poem given below and answer the question that follow :
And you feel so alone,
when the rain doesn’t stop
And you can’t make it home,
When it feels all is lost
And you just want to run,
It can’t rain forever.
Just wait for the sun.

When family is pain,

When friends can’t be found,
When you just want to scream
But you can't find the sound,
When it's all your fault,

And you feel like you're done,
Just wait for the sun.

The sunshine will come.

Dark clouds always pass.

[ promise you, hun.

We're all waiting with you.
Just wait for the sun.

[t can’t rain forever.
Just wait for the sun.
What do the words ‘rain” and ‘sun’ symbolize here ?
(1) trouble; bliss
(2) obstacles; melancholy
(3) Dblessings; contentment
(4) complications; despair
[Question ID = 165][Question Description = S1_English Content/Pedagogy_Q105]
1 [Option ID = 657]
2 [Option ID = 658]

3 [Option ID = 659]
. 4 [Option ID = 660]
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As a post reading task of the poem “The Leaf” the teacher of class 7 asked the students to
make pictures of different animals using dry leaves. She is :
(1) engaging students in some activity to finish her task
(2) integrating language with art
(3) trying to develop the fine motor skills of students
(4) integrating language with animals
[Question ID = 166][Question Description = S1_English Content/Pedagogy_Q106]
1. 1 [Option ID = 661]
2. 2 [Option ID = 662]
3. 3 [Option ID = 663]
4. 4 [Option ID = 664]
1dian classrooms are mu gual in nature. This mus used as a resource so i
2) Indian cl Itilingual in nature. Thi t be used ' that
(1) every child learns in the same way
(2) children are aware of many languages
(3) the teacher develops proficiency in different languages
(4) every child feels secure and accepted
[Question ID = 167][Question Description = S1_English Content/Pedagogy_Q107]
. 1 [Option ID = 665]
. 2 [Option ID = 666]

. 3 [Option ID = 667]
. 4 [Option ID = 668]

AW N =

3) Intensive reading strategy focusses on :
(1) reading a text for pleasure
(2) reading a text for detailed information
(3) reading a text for overall understanding
(4) reading a text for others
[Question ID = 168][Question Description = S1_English Content/Pedagogy_Q108]
1 [Option ID = 669]
2 [Option ID = 670]

3 [Option ID = 671]
. 4 [Option ID = 672]

A wnN =

4 Complete the following statement by choosing the best option.
Picture reading can be a valuable resource for emergent readers as
(1) it provides important cues about what is happening in the story
(2) it helps them in improving their handwriting
(3) it makes them confident and good writer
(4) it makes them auditory learner

[Question ID = 169][Question Description = S1_English Content/Pedagogy_Q109]

. 1 [Option ID = 673]

. 2 [Option ID = 674]

1
2

3. 3 [Option ID = 675]
4. 4 [Option ID = 676]



) An effective paragraph writing involves :
(1) legible and good handwriting
(2) difficult words in the content
(3) ideas, presentation and coherence
(4) flowery language to engage learners
[Question ID = 170][Question Description = S1_English Content/Pedagogy_Q110]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]

3. 3 [Option ID = 679]
4. 4 [Option ID = 680]

6)
Small children love to move pencil or crayons in to and fro position on any surface. This
is called :
(1) Invented writing
(2) Contemporary writing
(3) Scribbling
(4) Zig-zag writing
[Question ID = 171][Question Description = S1_English Content/Pedagogy_Q111]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]
7). Whole language approach means :
(1) breaking words into letters and combinations of letters
(2) establishing letter sound association
(3) looking at words as whole pieces of language
(4) focussing on phonics
[Question ID = 172][Question Description = S1_English Content/Pedagogy_Q112]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]

3. 3 [Option ID = 687]
4. 4 [Option ID = 688]

8;3& teacher uses child’s native language as medium of instruction for teaching the target
language. She is using :

(1) Grammar translation method

(2) Direct method

(3) Structural approach

(4) Communicative approach

[Question ID = 173][Question Description = S1_English Content/Pedagogy_Q113]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]



9)

Listening is the ability to and appropriately respond to the meaning of another
person’s spoken and non-verbal messages.
(1) memorize and understand
(2) understand and analyze
(3) judge and analyze
(4) judge and synthesize
[Question ID = 174][Question Description = S1_English Content/Pedagogy_Q114]
1. 1 [Option ID = 693]
2. 2 [Option ID = 694]

3. 3 [Option ID = 695]
4. 4 [Option ID = 696]

1‘.(;\)]}111*11 is the most useful term for describing the linguistic input to the language acquisition?
(1) caregiver speech

(2) child-directed speech

(3) infant-directed speech

(4) mother and child communication at the initial stage

[Question ID = 175][Question Description = S1_English Content/Pedagogy_Q115]
1. 1 [Option ID = 697]
2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]
11)
If a child during his early years lives in an environment with very little or no exposure of
language their language development is very limited. Which of the following supports
the above statement?
(1) problem of syntax
(2) problem of semantics of language
(3) sensitive periods of development
(4) theory of nativism

[Question ID = 176][Question Description = S1_English Content/Pedagogy_Q116]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

2) Which of the following is NOT a subskill of reading ?
(1) Making connections
(2) Prediction
(3) Transcription
(4) Comprehension
[Question ID = 177][Question Description = S1_English Content/Pedagogy_Q117]
1. 1 [Option ID = 705]

2. 2 [Option ID = 706]
3. 3 [Option ID = 707]



4. 4 [Option ID = 708]

13)
A teacher believes that students must be given a plenty of comprehensible input as it will
facilitate the acquisition of language. This belief of the teacher is related to :
(1) Vygotsky’s socio-cultural theory
(2) Piaget’s theory of cognitive development
(3) Skinner’s theory of behaviorism
(4) Stephen Krashen’'s theory of language acquisition
[Question ID = 178][Question Description = S1_English Content/Pedagogy_Q118]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]
'Y Which one of the following is the characteristic of a constructivist classroom ?
(1)  Children are interacting in groups and class is little noisy
(2) Children are noting down the answers written on board in good handwriting
(3) Children are listening attentively to the teachers
(4) Children are taught by experienced teachers.
[Question ID = 179][Question Description = S1_English Content/Pedagogy_Q119]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]
15 The idea of language relativity is supported by the view that :
(1) Language reflects rather than determines our thinking and perceptions
(2) Language and culture are separate and independent
(3) Language determines the way we think about and perceive the world
(4) Language has no role in shaping the thoughts
[Question ID = 180][Question Description = S1_English Content/Pedagogy_Q120]
1 [Option ID = 717]
2 [Option ID = 718]

3 [Option ID = 719]
. 4 [Option ID = 720]

A wN =
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feu o ey Wt SAYEh Ufen T U T UYH o ST oh foTq Hed SUEe faehed @t wee
THITSTT |

SRR AT 9% I Uh el ¢ | o9 foraen 2R Tew #¥d €, 30 Uiftes o urd 78] #d dfesh
ST €1 T &, TSI eTaTge e W= Wehd € | STE H U e YOTTel gerel 9o SIfeRE € S €,
a8 YRR § 5 %1 gfg T S § | IR 1 gaa 81 59 a2 W gE § e | diftes aea)
1 39 & T & Afes T greA-os o1 furferer weAr off ¥ U Sl oy e i srayeerar a8
afceh ST e UE =T T 1 31 WA Hi AEvIEd © | Afg I3 3 8 9 o 959 sgr |
1% TEeN TE Aft 1 srgve i e S A frg fem ® o svame # frefer wfat sed )

gelel B T HRI T -

(1) ¥ AEH 9eH HE
(2) G- B HHSI BT
(3) Afeer gftg| T

(4) S 1 TEIER FH BT

[Question ID = 601][Question Description = S1_Hindi Content/Pedagogy_Q121]
1. 1 [Option ID = 2401]
2. 2 [Option ID = 2402]
3. 3 [Option ID = 2403]
4. 4 [Option ID = 2404]

2)

few T ey Wt SAYE Ul AT U T WS o 39T o foTe Hed SuEe faeshed @t wee
SHITeTT |

STER T U9 dcd U 781 & | €9 fSian TR T80 #d €, 3a- Uiftes 7 g 78] &id afcsh
ST €1 UTel €, TS AT e T Wehd § | e S TE UrE YOI gerel 9o VIR 8 S §,
da YR H g5 =i gfg T Sl ¥ 1 KR 1 gad 21 36 924 o H9E § 5 AIeE § diftes dw
&1 S B AE & Afosh gHR grEA—ds 1 furferer v ot &1 UH S 1 S o sqayhd T8
afeeh ST e UE 9T T3 1 31 TEH i @I © | Afg I3 S 8 9 o 959 ser §
1% TEeT TEl 2ft 1 srgve iR e S A frg fen ® fop svame # frafer wfmt sed )

T o SR Heifee Heceyol # 8 7

(1)  eifsss aen o SR '

(2) e A1 o YA WAl

(3) gTHAYHF JER BV HTAl

(4) difes SRR TR FE
[Question ID = 602][Question Description = S1_Hindi Content/Pedagogy_Q122]
1. 1 [Option ID = 2405]
2. 2 [Option ID = 2406]

3. 3 [Option ID = 2407]
4. 4 [Option ID = 2408]

3)



feu o ey Wt SAYEh Ufen T U T UYH o ST oh foTq Hed SUEe faehed @t wee
THITST |

SRR AT 9% I Uh el ¢ | o9 foraen 2R Tew #¥d €, 30 Uiftes o urd 78] #d dfesh
ST €1 T &, TSI eTaTge e W= Wehd € | STE H U e YOTTel gerel 9o SIfeRE € S €,
a8 YRR § 5 %1 gfg T S § | IR 1 gaa 81 59 a2 W gE § e | diftes aea)
1 39 & T & Afes T greA-os o1 furferer weAr off ¥ U Sl oy e i srayeerar a8
afceh ST e UE =T T 1 31 WA Hi AEvIEd © | Afg I3 3 8 9 o 959 sgr |
1% TEeN TE Aft 1 srgve i e S A frg fem ® o svame # frefer wfat sed )

TRITel ¥ SR ST T & -
(1) oS %9 & S

(2) dSH o I €

(3) YRR TSiEd o4 8

(4) o geferar amdt &

[Question ID = 603][Question Description = S1_Hindi Content/Pedagogy_Q123]
1. 1 [Option ID = 2409]
2. 2 [Option ID = 2410]
3. 3 [Option ID = 2411]
4. 4 [Option ID = 2412]

4)

few T ey Wt SAYE Ul AT U T WS o 39T o foTe Hed SuEe faeshed @t wee
SHITeTT |

STER T U9 dcd U 781 & | €9 fSian TR T80 #d €, 3a- Uiftes 7 g 78] &id afcsh
ST €1 UTel €, TS AT e T Wehd § | e S TE UrE YOI gerel 9o VIR 8 S §,
da YR H g5 =i gfg T Sl ¥ 1 KR 1 gad 21 36 924 o H9E § 5 AIeE § diftes dw
&1 S B AE & Afosh gHR grEA—ds 1 furferer v ot &1 UH S 1 S o sqayhd T8
afeeh ST e UE 9T T3 1 31 TEH i @I © | Afg I3 S 8 9 o 959 ser §
1% TEeT TEl 2ft 1 srgve iR e S A frg fen ® fop svame # frafer wfmt sed )

g AEvES T8l ¢ 6 29 St A § STer uem i -
(1) 3ot = ¥ diftes g ol
(2) A AEH G- HeEd o
(3) A WA H IS Sedl gl Sy
(4) =% 3091 & GUHATES 99 S
[Question ID = 604][Question Description = S1_Hindi Content/Pedagogy_Q124]
1. 1 [Option ID = 2413]
2. 2 [Option ID = 2414]

3. 3 [Option ID = 2415]
4. 4 [Option ID = 2416]

5)



feu o ey Wt SAYEh Ufen T U T UYH o ST oh foTq Hed SUEe faehed @t wee
THITSTT |

SRR AT 9% I Uh el ¢ | o9 foraen 2R Tew #¥d €, 30 Uiftes o urd 78] #d dfesh
ST €1 T &, TSI eTaTge e W= Wehd € | STE H U e YOTTel gerel 9o SIfeRE € S €,
a8 YRR § 5 %1 gfg T S § | IR 1 gaa 81 59 a2 W gE § e | diftes aea)
1 39 & T & Afes T greA-os o1 furferer weAr off ¥ U Sl oy e i srayeerar a8
afceh ST e UE =T T 1 31 WA Hi AEvIEd © | Afg I3 3 8 9 o 959 sgr |
1% TEeN TE Aft 1 srgve i e S A frg fem ® o svame # frefer wfat sed )

T % SFHER AoH § aifus savasE § -
(1) 39a =i Frafme @

(2) SR STl TE R

(3) Trafod e e

(4) UG H1 HeEd G

[Question ID = 605][Question Description = S1_Hindi Content/Pedagogy_Q125]
1. 1 [Option ID = 2417]
2. 2 [Option ID = 2418]
3. 3 [Option ID = 2419]
4. 4 [Option ID = 2420]

6)

few T ey Wt SAYE Ul AT U T WS o 39T o foTe Hed SuEe faeshed @t wee
SHITeTT |

STER T U9 dcd U 781 & | €9 fSian TR T80 #d €, 3a- Uiftes 7 g 78] &id afcsh
ST €1 UTel €, TS AT e T Wehd § | e S TE UrE YOI gerel 9o VIR 8 S §,
da YR H g5 =i gfg T Sl ¥ 1 KR 1 gad 21 36 924 o H9E § 5 AIeE § diftes dw
&1 S B AE & Afosh gHR grEA—ds 1 furferer v ot &1 UH S 1 S o sqayhd T8
afeeh ST e UE 9T T3 1 31 TEH i @I © | Afg I3 S 8 9 o 959 ser §
1% TEeT TEl 2ft 1 srgve iR e S A frg fen ® fop svame # frafer wfmt sed )

o5 "o % fore s § -
(1) e qB0 | AR o
(2) HH H A SYEH @A
(3) H¥F T 1 Ik B

(4) HIHAES® S AT

[Question ID = 606][Question Description = S1_Hindi Content/Pedagogy_Q126]
1. 1 [Option ID = 2421]
2. 2 [Option ID = 2422]
3. 3 [Option ID = 2423]
4. 4 [Option ID = 2424]
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feu o ey Wt SAYEh Ufen T U T UYH o ST oh foTq Hed SUEe faehed @t wee
THITST |

SRR AT 9% I Uh el ¢ | o9 foraen 2R Tew #¥d €, 30 Uiftes o urd 78] #d dfesh
ST €1 T &, TSI eTaTge e W= Wehd € | STE H U e YOTTel gerel 9o SIfeRE € S €,
a8 YRR § 5 %1 gfg T S § | IR 1 gaa 81 59 a2 W gE § e | diftes aea)
1 39 & T & Afes T greA-os o1 furferer weAr off ¥ U Sl oy e i srayeerar a8
afceh ST e UE =T T 1 31 WA Hi AEvIEd © | Afg I3 3 8 9 o 959 sgr |
1% TEeN TE Aft 1 srgve i e S A frg fem ® o svame # frefer wfat sed )

e H @ forg vrsg H worg 1 9Ee gen 2

(1) @R
2) difes
(3) H=F
(4) gye

[Question ID = 607][Question Description = S1_Hindi Content/Pedagogy_Q127]
1. 1 [Option ID = 2425]
2. 2 [Option ID = 2426]
3. 3 [Option ID = 2427]
4. 4 [Option ID = 2428]

8)

few T ey Wt SAYE Ul AT U T WS o 39T o foTe Hed SuEe faeshed @t wee
SHITeTT |

STER T U9 dcd U 781 & | €9 fSian TR T80 #d €, 3a- Uiftes 7 g 78] &id afcsh
ST €1 UTel €, TS AT e T Wehd § | e S TE UrE YOI gerel 9o VIR 8 S §,
da YR H g5 =i gfg T Sl ¥ 1 KR 1 gad 21 36 924 o H9E § 5 AIeE § diftes dw
&1 S B AE & Afosh gHR grEA—ds 1 furferer v ot &1 UH S 1 S o sqayhd T8
afeeh ST e UE 9T T3 1 31 TEH i @I © | Afg I3 S 8 9 o 959 ser §
1% TEeT TEl 2ft 1 srgve iR e S A frg fen ® fop svame # frafer wfmt sed )

$iF-1 fasrey fagra-fages =1 e & 2

(1) diftes® mr
(2) HrEE-dA
(3) UTEA-WOITEl
(4) HIg-¥A

[Question ID = 608][Question Description = S1_Hindi Content/Pedagogy_Q128]
1. 1 [Option ID = 2429]
2. 2 [Option ID = 2430]
3. 3 [Option ID = 2431]
4. 4 [Option ID = 2432]

Topic:- HIN_Q129-135_L2_P2_CTET
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feu o ey Wt SAYEh Ufen T U T UYH o ST oh foTq Hed SUEe faehed @t wee
THITSTT |

aTree fég ot ST |Eah il | o qvE Aarst A g # st a6t o W % fo
ue forfer @ren | 39 Wedz it darfas swm asd 99 55 999 & s o S Afgant
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(1) TouM Sge o S

(2) Sl TRt fefmedn e

(3) TEd-Hfersht & Sl

(4) U I SR FHIAT

[Question ID = 609][Question Description = S1_Hindi Content/Pedagogy_Q129]
1. 1 [Option ID = 2433]
2. 2 [Option ID = 2434]
3. 3 [Option ID = 2435]
4. 4 [Option ID = 2436]

2)

few T ey Wt SATYE Ufeu AT U T UYH o ST o foTe He Suee fashed @t wee
whifeTq |
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(3) TEEI© ot FuT o
(4) TEHl § o= o off

[Question ID = 610][Question Description = S1_Hindi Content/Pedagogy_Q130]
1. 1 [Option ID = 2437]
2. 2 [Option ID = 2438]
3. 3 [Option ID = 2439]
4. 4 [Option ID = 2440]



3)
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THITT |
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[Question ID = 611][Question Description = S1_Hindi Content/Pedagogy_Q131]
1. 1 [Option ID = 2441]
2. 2 [Option ID = 2442]
3. 3 [Option ID = 2443]
4. 4 [Option ID = 2444]

4)

fau o ey WY SAEYEE Ui AT U T UYH o 39T o foTT g Sude fashed @t we
whifeTq |
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T S el Rt e i wedn geet off |
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(1) ¥eER

(2) oEm

(3) HgH

(4) R

[Question ID = 612][Question Description = S1_Hindi Content/Pedagogy_Q132]
1. 1 [Option ID = 2445]
2. 2 [Option ID = 2446]
3. 3 [Option ID = 2447]
4. 4 [Option ID = 2448]



5)
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& BieH Jel %1 g ¥ fofar § ofmfed gd1 3 Sf= wfemn ) wfeaeal =1 9e7 #:3@ go
UEFHA T T3 0 1 19978 F4 H Foan aew 3 it T=gF off | eneie g v o et
T Y et Rt e F gednt gt off |
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(1) e w5 uftard w1 afgend wfige of
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(4)  F=1 uftreqor =6t = sffeeRT & off

[Question ID = 613][Question Description = S1_Hindi Content/Pedagogy_Q133]
1. 1 [Option ID = 2449]
2. 2 [Option ID = 2450]
3. 3 [Option ID = 2451]
4. 4 [Option ID = 2452]

6)

fau T ey WY SAYEE Ufeu AT U T UYH o 39T o foTT Hed Sude fashed @t we
whifeTq |

HTSIE 88 ol SEATS HLHR Hl =W HIH & TR =il + gL H widh =i W Wede & fag
us forfer dren | 39 Wiz =t darfas swm asd 99 55| 99 & gois o & qfgan
forfer # erere el = = etean Ysmie # o= foredt swintt &5 o faw v -Afasm &1 gftiem
o o fore us 39 el | Tgg ufer 5t sree e e gafear s sifrarest % gefed =)
! Sre dhl %1 gemn § fafer o ofafem gf 1 3 S uftrermn =t wieeal =1 927 w30 50
TEHA =T TS G o1 A T H 08 T80 37 Tl 553% off | 3T=IE {88 Wit § et i
T S el Rt e i wedn geet off |
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2) Torferm

(3) Trer

(4) T

[Question ID = 614][Question Description = S1_Hindi Content/Pedagogy_Q134]
1. 1 [Option ID = 2453]
2. 2 [Option ID = 2454]
3. 3 [Option ID = 2455]



4. 4 [Option ID = 2456]

7)

few o ey Wt Sy Ul AT U T UYH o ST o foTq Hed SuEe faehed @t wee
THITTT |
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e forfer @ren | 39 Wedz it darfas wwm @ f99 55 999 & Jos o ) AfEen
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& BieH Jel %1 g § fofar § oftaferm g1 3 Sf e wfwemn =) wieaeal =1 97 #5@ gu
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(1) wftmferd
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[Question ID = 615][Question Description = S1_Hindi Content/Pedagogy_Q135]
1. 1 [Option ID = 2457]
2. 2 [Option ID = 2458]
3. 3 [Option ID = 2459]
4. 4 [Option ID = 2460]

Topic:- HIN_Q136-150_L2_P2_CTET

1)
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[Question ID = 616][Question Description = S1_Hindi Content/Pedagogy_Q136]
1. 1 [Option ID = 2461]
2. 2 [Option ID = 2462]
3. 3 [Option ID = 2463]
4. 4 [Option ID = 2464]



? frefafes § 9 FH-91 734 & foru gaifies v 22
(1) 9 Hodi %1 femifen = 8
(2) ST ST 9% W Hel Tk § ISRA HE §
(3) TS WIgd I H TSI §
(4) USA UG TR HI AT F AR HEAE

[Question ID = 617][Question Description = S1_Hindi Content/Pedagogy_Q137]
1. 1 [Option ID = 2465]
2. 2 [Option ID = 2466]
3. 3 [Option ID = 2467]
4. 4 [Option ID = 2468]
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[Question ID = 618][Question Description = S1_Hindi Content/Pedagogy_Q138]
1. 1 [Option ID = 2469]
2. 2 [Option ID = 2470]
3. 3 [Option ID = 2471]
4. 4 [Option ID = 2472]
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[Question ID = 619][Question Description = S1_Hindi Content/Pedagogy_Q139]
1. 1 [Option ID = 2473]
2. 2 [Option ID = 2474]

3. 3 [Option ID = 2475]
4. 4 [Option ID = 2476]
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[Question ID = 620][Question Description = S1_Hindi Content/Pedagogy_Q140]
1. 1 [Option ID = 2477]
2. 2 [Option ID = 2478]

3. 3 [Option ID = 2479]
4. 4 [Option ID = 2480]
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[Question ID = 621][Question Description = S1_Hindi Content/Pedagogy_Q141]
1. 1 [Option ID = 2481]
2. 2 [Option ID = 2482]
3. 3 [Option ID = 2483]
4. 4 [Option ID = 2484]
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[Question ID = 622][Question Description = S1_Hindi Content/Pedagogy_Q142]
1. 1 [Option ID = 2485]
2. 2 [Option ID = 2486]
3. 3 [Option ID = 2487]
4. 4 [Option ID = 2488]
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[Question ID = 623][Question Description = S1_Hindi Content/Pedagogy_Q143]
1. 1 [Option ID = 2489]
2. 2 [Option ID = 2490]
3. 3 [Option ID = 2491]
4. 4 [Option ID = 2492]
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[Question ID = 624][Question Description = S1_Hindi Content/Pedagogy_Q144]
1. 1 [Option ID = 2493]
2. 2 [Option ID = 2494]
3. 3 [Option ID = 2495]
4. 4 [Option ID = 2496]
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[Question ID = 625][Question Description = S1_Hindi Content/Pedagogy_Q145]
1. 1 [Option ID = 2497]
2. 2 [Option ID = 2498]
3. 3 [Option ID = 2499]
4. 4 [Option ID = 2500]
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[Question ID = 626][Question Description = S1_Hindi Content/Pedagogy_Q146]
1. 1 [Option ID = 2501]
2. 2 [Option ID = 2502]
3. 3 [Option ID = 2503]
4. 4 [Option ID = 2504]
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[Question ID = 627][Question Description = S1_Hindi Content/Pedagogy_Q147]
1. 1 [Option ID = 2505]
2. 2 [Option ID = 2506]
3. 3 [Option ID = 2507]
4. 4 [Option ID = 2508]
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[Question ID = 628][Question Description = S1_Hindi Content/Pedagogy_Q148]

1. 1 [Option ID = 2509]

2. 2 [Option ID = 2510]

3. 3 [Option ID = 2511]
4. 4 [Option ID = 2512]
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[Question ID = 629][Question Description = S1_Hindi Content/Pedagogy_Q149]
1. 1 [Option ID = 2513]
2. 2 [Option ID = 2514]
3. 3 [Option ID = 2515]
4. 4 [Option ID = 2516]
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[Question ID = 630][Question Description = S1_Hindi Content/Pedagogy_Q150]
1. 1 [Option ID = 2517]
2. 2 [Option ID = 2518]
3. 3 [Option ID = 2519]
4. 4 [Option ID = 2520]






